NO. 1 4 il /5 K

1.

— KRB

AOKTER £, m X Fhth y
y = x + 8, y = -3 x + 12
Thd, HME L, M & xfihbDREE
FhEh A,B &35, £/, BHig L& m
EDRREPETHEE, IRORWIZ P
BRI,

O  HPOEEFEZ R DS,

@ A B DEEREEZNZILRD I E W,

®  =AEAPBOHE AR DR S,

@  JHPAZIEY =fIEAPBOEE A ST HEAROXZ RO A2 E W,

R CEx T EE 7Y b
http://chugaku. manabihiroba. net/



— KRB

0 )

TT X
fiig 225
O® £, m Zufisy
x + 8 = -3 x + 12
4 x = 12 - 8
4 = 4
X = 1
y = 1 + 8 = 9 S5 P
@ vy = 0 %A 0 = x + 8
0 = -3 x +
TN A ( -8 ) 0 ) SN B ( 4 )
® AB OE X 4 - (-8) = 12
B S AEPOyERE 9
AAPBOEEIX 12 X 9 +— 2 = 54
@  ABO 1S oD FEAE
-8 + 4
(—2 , 0 ) = (-2, 0

KODH—WBEHOXEy=ax+beT 5L,
9
0

x= 1 O&LE, y= 9 725

x= 20OLE, y= 0 725

O - © 3 a = 9
OIZRA

R CEx T EE 7Y b
http://chugaku. manabihiroba. net/

a

b

= 3

a

a




